| Efficiency vs Dxy |

0.02¢ —
Pad [ : . :

j®) - .

O R R R i S
< :

@OLB| ity R e S

o I é

O R S ] A A

© F :

0 e e St | R FE S U
D01 R R S i 2 SRR RS S

0.008F -ttt ....................................

0] R R e e

0,004 ++iirrreesireneendionc - s s

0.002F+ereeesfress oo & IS SATTIE SR S S
.9J-.Q:IIII:IIII:IIII:IIII:III! II:IIII:IIII:IIII:IIII
S F

[ 1_1_— -----------------------------------------------------------------

1:— -------------------------------- e LR T

_2B20-15-10 =5~ 0 5 10 15 20 25

| Efficiency vs Dz |

TP dxy (cm)

—=— DQM_mkFit_TTbhase

—— DQM_mkFit_TT_retrainOldFiles125

nND.02
S

..................................................

¢l

10 20 30
TP dz (cm)




	Contents
	Page 1


